A & 0l & AF & F Al M

THSEEAEN
EHMSIE
H=ENE I8t X4 (e & J)
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
MsdEA24 42,196, 185 35, 575, 250 6, 620, 935
gHsdE 34,179, 152 27, 626, 796 6, 552, 356
M2EE Jlgt =4 16, 769, 390 15, 265, 343 1,504, 047
Ngxs & #4249 &85 134, 600 173, 800 A 39, 200
201 LEer2gH| 71,000 75, 200 A4, 200
01 AtS2e2ldl 71,000 75, 200 A4,200
Oget=ZH| = 55, 000
OF=1=1:] = 16, 000
202 044l 60, 000 55, 000 5, 000
01 =LHOHI 60, 000 55, 000 5, 000
O NsdLdE 2 =& = 40, 000
O 32 2 =& = 10, 000
O d= e g2 s =& = 5, 000
O Mex=s #3203 s g2 A = 5,000
203 E R =&l 3, 600 43, 600 A 40, 000
03 AHFAAHRFZIH| 3, 600 43, 600 A 40, 000
OMsEAY 9 F& = 3, 600
TE NsE s4 L a2 1,428, 790 1,379, 743 49, 047
301 et A3 1,428, 790 1,379, 743 49, 047
11 flstd - 2sEsSE42 1,428,790 1,379, 743 49, 047
O EE3N=sEY s4 = 1, 336, 390
O & Msd=s el 92, 400
- HEEEE = 14, 200
- 1E8ER = 10, 700
- 303 = 32,000
- ATHEE = 4, 400
- &3 = 31,100
ZIIEH 54 XA 150, 000 150, 000 0
307 2I2t0| A 150, 000 150, 000 0
02 QIZHBAMSE =X 150, 000 150, 000 0
O &It s4X& = 150, 000




HAMENE I8 X4 (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
S0t 9H OtetEUS 300, 000 0 300, 000

307 2I2tol A 300, 000 0 300, 000
04 BIZFSHALE = 300, 000 0 300, 000
O SO0t & 2008 M OtetECH 3 = 300, 000
sHE 448 RYds Eegd 90, 000 226, 800 A 136,800
308 XMXHMSOIA 90, 000 226, 800 A 136, 800
01 RXNSMIAESEZ 90, 000 226, 800 A 136, 800
O s0HE d3ad Sdd H8 32
500, 000& 90 x23| = 90, 000
[D] 90, 000]
=N & des4 2o=dA 8, 500, 000 8, 000, 000 500, 000
307 2I2t0| & 8, 500, 000 8, 000, 000 500, 000
02 QI2ZtFAMNEX 8, 500, 000 8, 000, 000 500, 000
O &EIMA dax=s4 & 2st=d = 8, 500, 000
2HEE WS 20, 000 20, 000 0
307 2I2t01 A 20, 000 20, 000 0
02 QIZHABAMNSE X 20, 000 20, 000 0
OZNEE HNsuF = 20, 000
Al 23 H=sE 848 4, 849, 000 4, 515,000 334, 000
308 AXHMSOIA 4,849, 000 4,515, 000 334, 000
01 AXNHHBAEXES 4, 849, 000 4, 515, 000 334, 000
O A 288 84 9, 698, 000, 000& *50% = 4,849, 000
SO K=K 300, 000 300, 000 0
308 XAXHHMSOIA 300, 000 300, 000 0
01 XXHMBAEXEZ 300, 000 300, 000 0
O HMeosl SQIM=CHal HEIXI&
600, 000, 000& *50% = 300, 000
s eI =al Mzl XA 80, 000 70, 000 10, 000
308 AXHMSOIH 80, 000 70, 000 10, 000
01 AXNHHBAEEZ 80, 000 70, 000 10, 000
OHM4el =& Z0He M=l Mzl X3
160, 000, 000& *50% = 80, 000
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el HSAE Il XA (9 @
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2

Zoel s =4 29 2 K& 917, 000 430, 000 487, 000
307 2I2tol A 917, 000 430, 000 487, 000
02 QItAAE=X 667, 000 180, 000 487, 000

O Zoiel M=3 22| = 350, 000

O N HOUHT M4 RA2AHEE - 150, 000

O Hb5sl M= =oteld == JHE X = 150, 000

O Zoel M= e 28 & NN 54 = 17, 000
04 CIZFHALE = 250, 000 250, 000 0

O HOHeIM=U= HEl 2 &2 = 250, 000
MEs 23 2,698, 762 2,548, 453 150, 309
T MEX=sEs 29 412, 000 411, 669 331
307 2I2H0| & 412,000 411, 669 331
02 QI2ZtFAMNEX 412, 000 411, 669 331

OzMBUSHE 2 - 412,000

(21 68, 550]

== 343, 450]
METSXI S A 21| 59, 940 58, 320 1,620
307 2I2t0| & 59, 940 58, 320 1,620
02 QI2ZHAAMEX 59, 940 58, 320 1, 620

O MEHMFA A olAd| 59, 940

-XNEX =< = 45, 288

[J] 22, 644]

= 22, 644]

-HERES = 7,380

[D] 3, 690]

= 3, 690]

—=LHO{ b = 7,272

[J] 3, 636]

= 3, 636]
HEHN MSES(XEZX) 19, 980 19, 440 540
307 2I2t0| & 19, 980 19, 440 540
02 QIZHBAME X 19, 980 19, 440 540




PAHSEAE L
M. SEHMSES
o MEty = 2st
SA-HH. S (B) - HRAY - BAS Ol &t Shitr
O =28 MsESIJ(XNZ) 19,980
- N&eX =< = 15, 096
[D] 7, 548]
== 7,548]
- HIRES = 2, 460
[D] 1, 230]
== 1, 230]
- =04 bl = 2,424
[J] 1,212]
== 1,212]
HE HEXNEA 2538 2,000 2, 000
307 2I2toI A 2,000 2,000
04 DI2FSHAIE &= 2,000 2,000
O AENEXNEA 28538 = 2,000
[l 1,000]
= 1, 000]
SSE Hgs Zg2eldl X 51, 000 51, 000
307 2I2toI A 51,000 51,000
02 RIZHEAMEX 51,000 51,000
O&=2g Sg2eldl N = 51, 000
SEEE 024 MEXHSUS N 40, 000 40, 000
307 gIZ2told 40, 000 40, 000
02 QIZHANMEZX 40, 000 40, 000
020088 EHET HE2 4 MEHHSUS = 40, 000
[D] 20, 000]
= 20, 000]
MEXE wa 2IXJ 165, 864 165, 864
308 XX HHMSOIN 165, 864 165, 864
01 AUXHHBANEES 165, 864 165, 864
OHUENsNa2H = 165, 864
[J] 79, 419]
= 86, 445]




PMHESEAEL
M. SEHMSES
S MENE 2et (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
MBS XIS A 21| 831, 168 845, 640 A4, 472
308 XAXHHMSOIA 831, 168 845, 640 A4, 472
01 XXHMBAEXEFZ 831, 168 845, 640 AN14,472
OME ST 22| = 831, 168
[7] 639, 360]
= 191, 808]
MEHE T2 2INH 189, 000 189, 000 0
308 KAXHHMSOIA 189, 000 189, 000 0
01 XXHMBLAEEZ 189, 000 189, 000 0
OdeNs g )H2d = 189, 000
[D] 189, 000]
HEd Msgs(XeX) XA 189, 810 155, 520 34,290
308 AR HHMSOIH 189, 810 155, 520 34,290
01 AUXNHHBAEEZ 189, 810 155, 520 34, 290
O oHzal NEESKA(XZA) = 189, 810
[J] 189, 810]
MEHSUE- SH OHE(EIH X 621, 000 531, 000 90, 000
307 2I2t0| & 515, 000 531, 000 A 16,000
04 QIZIHAIE X 515, 000 531, 000 A 16,000
OMEM=USINE L &IHXIA(poal ) = 515, 000
308 AXHHMSOIA 106, 000 0 106, 000
01 XXSMBIAEEZ 106, 000 0 106, 000
OSX A SCIMEsHal 212,000, 000& *50% = 106, 000
MEH S HNRHAXKEK, AR=2E S) 15, 000 15, 000 0
307 2I2t0| & 15, 000 15, 000 0
02 QIZtAAMNSE =X 15, 000 15, 000 0
OdENs NRAX(XEX, AIR=2EH) = 15, 000
DMET R R d&=2 HE 30, 000 25,000 5,000
307 2I2t0l A 30, 000 25, 000 5, 000
02 QIZrAAMSE =X 30, 000 25, 000 5, 000
O=0MEis RBNU HeH= = 30, 000




PMHESEAEL
M. SEHMSES
S MENE 2et (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
BAE AZINA 2H 72,000 39, 000 33, 000
308 XAXHHMSOIA 72,000 39, 000 33, 000
01 XXHMBAEXEFZ 72,000 39, 000 33, 000
ORisd AZXDAURA(ER, 57, HISLE)
240, 000, 000& *30% = 72,000
M= I8 Ald &= 2 X3 14,711, 000 9, 813,000 4,898, 000
Lol A MsAE &X 460, 000 440, 000 20, 000
403 AtXI XS K201 ™ 460, 000 440, 000 20, 000
01 XXSHXMIAELX 460, 000 440, 000 20, 000
OLoALMsSA AXI(MEA) = 460, 000
(2 460, 000]
NEHs2 HE 2,200, 000 791, 000 1, 409, 000
403 XXM S K201 ™ 2, 200, 000 791, 000 1, 409, 000
01 XXHHA=2EX 2,200, 000 791, 000 1,409, 000
OZoNs2 JIsES(HI]) = 500, 000
OXgdsa HE(HE) = 1, 700, 000
(2 1, 200, 000]
= 500, 000]
OS2t MEMSAE XA 114, 000 118, 000 A4, 000
403 AtXISHHSA201H 114, 000 118, 000 A4, 000
01 XXHHA=2EX 114, 000 118, 000 A 4,000
O o=t MEds Al X = 114, 000
[D] 114, 000]
MESAE QIX&C =4 1, 300, 000 1, 300, 000 0
403 X SMS K201 & 1, 300, 000 1, 300, 000 0
01 XXHHMASEE 1, 300, 000 1, 300, 000 0
O daEdsAld &0 24 = 1, 300, 000
SHMEH HE 1, 000, 000 0 1, 000, 000
403 XX SHSA201H 1, 000, 000 0 1, 000, 000
01 XXHAHA=2EX 1, 000, 000 0 1, 000, 000
O s74dH HE (A = 1, 000, 000




SRS OB AA SHE 9 X (o ®
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
HOIESE CIX&L =4 640, 000 640, 000

403 XX SHHSA=01H 640, 000 640, 000 0
01 XXISHXMAELX 640, 000 640, 000 0
OAHOIEEE A=&L =4
40, 000, 0002 #3201 2 *50% = 640, 000
Sgesd A8 N& 5,322,000 600, 000 4,722,000
403 XXM S K201 ™ 5, 322, 000 600, 000 4,722,000
01 XXHHA=2EX 5,322,000 600, 000 4,722,000
O Z&=2s% AHE XI2A(0Ha) = 5,322,000
(2 5, 322, 000]
278 AsAd 2+ B2 455, 000 2,110,000 A1, 655,000
408 XX ESHHSA=01H 455, 000 2,110, 000 A1, 655,000
01 XXISHMAE2LE X 455, 000 2,110, 000 A1, 655,000
O4LT2 HESAME E22 910, 000, 000& *50% = 455, 000
SO M= EHIEZ 2, 700, 000 1, 200, 000 1, 500, 000
403 KXISHMS K201 2,700, 000 1, 200, 000 1, 500, 000
01 XXHHA=2EEX 2, 700, 000 1,200, 000 1, 500, 000
OELYZSLE2SE cl22E = 1, 500, 000
OZoHMSUE ZHHl 22Z(0HaH)
2, 400, 000, 000& *50% = 1, 200, 000
MENE S& 250, 000 500, 000 A 250, 000
403 XHXISHMS 201 A 250, 000 500, 000 A 250,000
01 XXHHA=2EX 250, 000 500, 000 A 250, 000
O MENsS3A ZH(EeH = 250, 000
[Z 250, 000]
Bx 57% =4 270, 000 0 270, 000
403 XX SHHSA=01H 270, 000 0 270, 000
01 XXISHXMAELEX 270, 000 0 270, 000
O B33 ZH(HE) = 270, 000
[ 270, 000]
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PMMSEAEL
I HAG. 54 ¥5
CeHAE |4 25 (S 8
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
= 180, 000]
T Fad A3 29 5, 000 5, 000 0
307 2I2t0| & 5,000 5,000 0
02 QI2ZHZAME X 5,000 5,000 0
O EA2U2IRA-S 2¢ = 5, 000
[D] 2,500]
(= 2, 500]
HAod SYE3O XEELH 10, 000 10, 000 0
307 2I2t0| & 10, 000 10, 000 0
02 QI2ZtZAMEX 10, 000 10, 000 0
OmAW Sgslol X E - 10,000
[= 5, 000]
== 5, 000]
Al 2 48 SEXEAA 2SX2 208, 000 240, 000 A 32,000
308 XX HMSOIA 208, 000 240, 000 A 32,000
01 XXSHMBIAEEZ 208, 000 240, 000 A 32,000
OAl- &2 3449 SEXNFMA 2=
320, 000, 000& *65% = 208, 000
[D] 160, 000]
= 48, 000]
A4 &= 0r2tdi0l 700, 291 700, 605 A314
308 X HHMSOIH 700, 291 700, 605 A314
01 RXSMBIAESEZ 700, 291 700, 605 A314
O&AY &= 0t3+0I0| = 700, 291
[D] 538, 685]
= 161, 606]
T Fad Mg 2Y 280, 424 290, 000 A9, 576
307 2I2t0| & 280, 424 290, 000 A9, 576
02 QIZtZAE X 280, 424 290, 000 A9, 576
O Eay &ga 29 = 280, 424
[= 140, 212]
== 140, 212]




PMMSEAEL
I HAG. 54 ¥5
CeHAE |4 25 (S 8
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
dad 32Y 298 107, 000 69, 000 38, 000
308 XAXHHMSOIA 57,000 69, 000 A 12,000
01 XXHMBAEXEFZ 57,000 69, 000 A12,000
O&AYE S2Y 2Z 10, 000, 000 * 197K A *30% = 57,000
403 XX ESHHSA=01H 50, 000 0 50, 000
01 XXSHXMAELX 50, 000 0 50, 000
ontss=e ds 100, 000, 000 *1JH A *50% = 50, 000
LA =S4 AL AL 2 KA 25, 200 25,200 0
308 XX HMSOIA 25, 200 25,200 0
01 RXSMIAESEZ 25, 200 25,200 0
OS2 S KA 66, 666, 000& *30% = 20, 000
O&EAY HUEo Al &AL 17, 333, 000& *30% = 5,200
FadE UXNSSFL3 Al- 2 XI& 300, 100 46, 200 253, 900
307 2I2tol A 100, 000 0 100, 000
02 QIZtAASB =X 100, 000 0 100, 000
OUWEZSE = 100, 000
[J] 50, 000]
= 50, 000]
308 AR HMSOIH 200, 100 46, 200 153, 900
01 RXSMBIAEEZ 200, 100 46, 200 153, 900
OAlZ Ea4 XA 3
2, 000, 000& * 1600 Al = *30% = 9, 600
OAlZZ3tE 192, 000, 000& *65% = 124, 800
(DI 96, 000]
= 28, 800]
Osotel2g XA 78, 000, 000& *65% = 50, 700
(DI 39, 000]
(& 11, 700]
OAJNRE O &l FYEX 30,000, 000& *50% = 15, 000
Hdad A MHE &3 XN 128, 000 174,000 A 46,000
307 2I2t0I A 128, 000 174, 000 A46,000
02 QIZHBAME X 110, 000 150, 000 A 40, 000
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